BRADSEHETILD [F258) 2020/08/02 (B) 17:16

2020 £ 8 A 28 (A)

BEAE FIRUT fE Lk *x ok ok x kK x kK Xk *

FTHUHIRE: PARX3 NOUTDOD@B3®®@d6 & @6 O N IND @ @ @ @ ® ® @ ®

HDCPERR: (58B) 40.0 (&) 40.0 wE:
JE:L mIESR g ouT IN GROSS | HDGP | NET JEsz HHEEA g ouT IN GROSS | HDGCP | NET
B % E+E #x 48 43 91 20.4] 70 6/A% blfr | FH %= 50 49 99| 204/ 786
B A BB 35 37 720 1.2] 70.8BG AH 5ot [1EE % 56 48 104] 252 78.8
3L R MR 41 45 86| 14.4] 71.6/AH b3 Il HEAER 59 57 116] 37.2] 78.8
M WME R 48 50 98] 26.4] 71.6/AH bAf B HR 51 46 97 18.0] 79.0
EEE S 42 49 o1 19.2] 71.8/AH 55 Pl % 47 54 101 21.6] 79 4lmHE
6 |HBk =4 42 41 83 10.8] 72.2(A% 564z | EE FI3A 48 52 1000  20.4] 79.6
e 43 55 o8] 25.2] 72.8/AH bt | EEl 55 57 112] 32.4] 796
8t |hFt BEA 47 45 92 19.2] 72.8/A% b8t Bl B2 52 47 99| 19.2] 79.8
o |& A 46 50 96 22.8] 73 2[AH bOfr |gEE [EE 56 55 11 31.2] 79.8/52%¢H
1062 [kt # 44 46 9 16.8] 73.2/A% 60t |HE JE— 53 57 110, 30.0  80.0/R8560EEE
1 5 K& 46 50 96| 228 732 61 | BH =F 53 51 104]  24.00 80.0
124 [ILFE  #ith 50 54 104]  30.0] 74.0 6201 | E— 50 52 102]  21.6] 80.4
13 |¥@ B 49 54 103] 28.8] 74.2 636 iK% WE 49 50 99 18.0] 81.0
144 o EA 49 47 96| 21.6] 74.4 644 [HJI BEA 45 47 92] 10.8] 81.2
150 B #fd 44 46 90| 15.6 74 4|%H 650 fBA EH 44 51 95 13.2] 81.8/mH
160 BBk B 56 51 107] 32.4] 74.6 666 O fFE 46 53 99| 16.8] 82.2
1 |E# K 41 42 83 8.4/ 74.6 67tz |B@E X 52 47 99| 15.6/ 83.4
18 |48 BEE 50 63 113 38.4] 74.6 68fr | FHR M 45 57 102]  18.0] 84.0
19 BE B 46 48 94 19.2] 74.8 69tz A ¥ 50 52 102 16.8] 85.2
206 |BE f— 47 41 88] 13.2] 74 8lmm 7061 |HE EH 60 68 128 40.0] 88.0/7RE
204 |8 H— 47 51 98] 22.8] 75.2 76 W% faR 70 73 143 40.0 103.0BB
26 | HH BE 45 47 92] 16.8] 75.2 26 BRI mig 79 81 160 40.0 120.0
236 WA T 49 49 98] 22.8] 75.2

204 |HTE HEE 54 49 103]  27.6] 75.4 3 _ _ . —

250w HH 53 53 106/ 30.00 76.0/7& BABI—R | 7ORRS—F | (VA5

260 B EA 50 56 106  30.0] 76.0 No.2| #BA Es e #x

206 Ik Eth 44 44 88 12.0 76.0

28t |/ Bt 47 59 106|300 76.0 - No.6| L3 AAIE Bk =&

200 =K B 56 49 105 28.8] 76.2 — o : =

0f |EH EF 50 49 99| 228 76 2mE Not2| FIS %R tf RE

316 ik BT 52 51 103 26.4] 76.6 No.17| Jn$x [BF IR it

324 ML EH 51 46 97]  20.4] 76.6

33 | FiRBRIE 15 5] 96| 19.2] 76.8 5oL No.7| &HER BE— Ik Eth

M |F% B 56 58 114] 37.2] 76.8 = s =

356 %M Al 53 60 113 36.00 77.0%& Nots| WA Hf22 15 RE

361 | Et 51 49 1000 22.8] 77.2 RXANTARE A BE

3 BB Bk 54 52 106] 28.8] 77.2

38l BEER R4 47 47 94 16.8] 77.2

30k |EA E— 45 48 93] 15.6/ 77.4
408 [EA A 45 47 92| 14.4] 77 6/mH
R - 53 50 103  25.2] 77.8
4265 |RER % 50 53 103] 25.2] 77.8
43 |EE Rt 46 51 97/ 19.2] 77.8
Al [EK ¥ 50 46 96| 18.0] 78.0
456 (%% EA 46 56 102 24.00 78.07%&
e~ 47 55 102] 24.00 78.0
474 #E1e EE 58 55 113 34.8] 78.2
486 | KK #ih 53 59 112] 33.6] 78.4
9 |XE 8 56 49 105 26.4] 78.6

504 |BHHIE EER 49 62 1] 32.4]  78.6|7%H




